RHEIAYYARE Xa7d—hk

DiITR OBR(EEHY) OBRA(BELL) R==%8% r=2%4I% ZH=%82%
HEEOMTITHBI=T Y

A4 *EH—F REEHE Bi54
HEOAYYV2014EE N KB HRIAAYYF VS. HEOAYYA 2014/03/06 14:20| BR;E = S 5L P BRI KIRE
B4V YA i3 . BapE
FTIIE] S &% i 2 3 4 5 6 7 8 O R RS YT IR T = 00 Bt bk a2
1 (4) 15K+ R | FEBRE FE Bk EEE1@® mE ]| 1i1i0i0i0{0i0i3i2
2 Gi) 48TiRiB XE| =7 T mE 41k @ FEERIE 1 1i2i0i0i0i0i2i1if1
3 (=) NHHNED | mEZ10 =ik = =ik 3i1i0{0i0i2i1i{0i1
4 (—)38) 541 FH g1 mERD F20 2 1ioi4i0i1ioio
5 (%) 4=FHFR| RKO o) ET 2:1i0i{0i0:i0i0i1:0
6 =) NHL ZF | RO ip—=gg | HHXKO =i 2:2:{1i{0i2i1i1i0i0
7 (£) 2028 Ef| AR [BXT=2E2| mze =3 3i2i2i0i1i0i0i0i0
8 ()5 ZNEARS | HAC® | [RITE=ST| MO LERS 1i12:1:11:3:0:2:0:0
9 d8)X(—) ITABENT =3, =% < =iR W%k 3 0i0i0i1:i0:i0:i0
10 ()38 6EE M= h& FZOO b1 3i1i2i0i1{0i0i0i0
11 #BXD) B ASRA =30 #HI%kQe =3 3i2i0i0i2i0i0i0i0
St|24i14i 7111134171514
fs B 1R BFH &k El B3k & BRI #HHR =i |[5WHEK| 555k | mx [h—7 | km [HEm
[ S 53&H FIE 2 19 5 1 1 5 3 1 10 9
w i 498K =E 2 13 2 0 2 2 1 4 3
; 5T 105 2 1 4 0 0 1 0 1
%
i




HERaAAYYARXE Ra7o—k DiIThr O/R(BEHY) OBR(BELL) H=E2R =45 LH=K2%

HEBOHFI =
EROAVJF A , AERE ]
FTIE] i &% i 2 3 4 5 Ra == 7 8 9 HTRE SR HRIT A= iU R S
1 H2(%)(=) 4985 K = R Z30@ ok TZEHK 2i1i1i0i1i0i1i0:i0
2 (2) 580Gl B =ik =R0) =31 3 1i{0i1i1i0i0:i1
3 GEE) (31 255K BR= | MWERE1 — R 0 Bk 1 0i0i0i0i2i0ifT
4 (2)GH) 1728 &% =ik =3 ER=D 3 1i0i1i1i0{0i0
5 #)(—) 53&4 fIE = ER &3 3 0i0i0i0io0ioio0
6 (%) 61118 X ] PRO mEET 2{1{1:0{0i0:0{0:0
7 () 5277 %% SH—ER 2 B ;ﬁij—ii 2 1i0i0i0i0i0:0
8 (—)E2(=) 7053 2ABA &3 WET TRA 2 0i0i0i0i0i0i0
9 (H) 35{FE BE— =3 LIk @ 1{1i0:0i0i0i0i1:i0
(8) B AJINES =3%0 —_3 2i1i0i0i0i0i0:i0i0
Fl21i4i5:0i3i2i3i1i2
B BX ik EFL Bk [E] Bk 3 HE W #HHR Z-R | EWER| 5K | 2% (7 £m [BES]
O SEH 24=# FX 4 18 4 0 2 1 0 3 1
< T NHERN EZ 1 7 1 0 0 2 1 1 1
2
i
1
F—L% 1 2 3 4 5 6 7 8 9 10 11 12 g
HEOAYYA 6 1 7 0 0 14
HROAYYF 0 0 2 1 1 4

=HFER. ITIRBRTASENEH !

B OAYY2014EE AT B, 2014/03/06 1420 BRmaOAYYF VS. RROAVYA (BB S 51 56 57 ik I K SR 2Y)



